
 
 
 

 

 

 

 الإجابة النموذجية / الدور الثاني  الكورس الثاني

Q 1// : 1-b,            2- d,              3- a,            4- a,               5 – d           6 – c. 

Q 2//: A // Double declining  method:  

Double declining rate = 1/N*2 =1/5 *2= 40% 

Year Cost Depreciation 
expense 

Accumulated 
depreciation 

Book value 

1 500000 200000 200000 300000 
2 300000 120000 320000 180000 
3 1800000 72000 292000 108000 
4 108000 28000*  80000 

 *  (292000 – 80000) 28000 

The entries: 

First year                 Depreciation expense     200000 

                                                  Accumulated depreciation       200000 

 

Second year:                Depreciation expense        120000 

                                                       Accumulated depreciation       120000  

 

Third year:                    Depreciation expense         72000 

                                                        Accumulated depreciation         72000 

 



 
 
 

The effect on the balance sheet as below: 

Assets Year 1 Year 2 Year 3 

Machine ID 500000 ID 500000 ID 500000 
Less: Accumulated 
Depreciation 

(200000) (320000) (292000) 

Book value ID 300000 ID 180000 ID 108000 

B//: Units of production: 

Depreciation rate per unit = 500000 – 80000/ 280000 = ID 1.50 

Depreciation expense for the first year = 1.50*48000 = ID 72000 

Depreciation expense for the second year = 1.50*72000 = ID 108000 

Depreciation expense for the third year = 1.50* 92000 = ID 138000 

Year Cost Depreciation 
expenses 

Accumulated 
depreciation 

Book value 

1 ID 500000 ID 7200 ID 7200 ID 428000 
2      500000      108000      180000      220000 
3      500000       138000      318000      182000 
4      500000       54000       372000      128000 
5      500000       48000       420000        80000 
 

 

The entries: 

First year:                            Depreciation expense         72000 

                Accumulated depreciation          72000 

 Second year:                       Depreciation expense          108000 

                                                              Accumulated depreciation           108000 

 Third year;                           Depreciation expense              138000     

                                                               Accumulated depreciation          138000 



 
 
 

 The effect on the Balance sheet as below: 

Assets Year 1 Year 2 Year 3 

Machine  ID 500000 ID 500000 ID 500000 
Less Accumulated 
depreciation 

ID 7200  ID 180000 ID 220000 

 Book value ID 428000 ID 220000 ID 182000 

Q 3//: A 

Date purchase Sales Balance 

May, 1   20*5000=10000 
May, 10 20*8000=160000  20*5000=10000 

20*8000=160000 

May, 15  15*8000=120000 20*5000=10000 
5*8000=40000 

May, 18 10*9000=90000  20*5000=10000 
5*8000=40000 
10*9000=90000 

May, 21  10*9000=90000 
5*8000=40000 
8*5000=40000 

12*5000=60000 
 

May, 30 
 

10*10000=100000  12*5000=60000 
10*10000=100000 

Cost of Goods sold 

 
290000 Ending 

inventory=160000 

B//: Net income: 

Sales (15*10000+23*12000)                                       426000 

Less cost of goods sold                                                (290000) 

Net income                                                                      136000 

 

 

 



 
 
 

Q 4//:  

Securities Cost Fair value Unrealized gain(loss) 

Treading 90000 92000 2000 

Available for sale 75000 70000 (5000) 

 165000 162000 (3000) 

 

                                      Unrealized loss-available for sale              3000 

                                                         Adjustment – market value                     3000 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 
 

Q 5//:                                           Bablen Company 

Cash flow statement for the year ended  Dec,31, 2015 

Cash from operating activities: 

Cash receipt from customers (350000+8000)                        ID 358000 

Cash payment: 

To suppliers                                                 ID 298000 (1) 

 For operating expenses                                   24000 (2) 

For interest expense                                            4000 

For income taxes(1000- 5000)                            5000                  (331000) 

Net cash provided by operating activities                                                      27000 

Cash flow from investing activities : 

Sales of Equipment                                                12000 

Net cash provided by investing activities                                                          12000 

Cash flow from financing activities: 

Redemption of bonds payable                             (26000) 

Issuance of common stock                                      17000 

Payment of cash dividends                                      14000       

Net cash used by financing activities                                                                 (23000) 

Net increase in cash                                                                                                 16000 

Cash at beginning of period                                                                                    23000  

Cash at end of period                                                                                          ID 39000 

                                    ------------------------------------------------------ 



 
 
 

Note (1) :              Cost of goods sold                                  280000 

                  Add increase in inventory                                   10000 

                  Add decrease in accounts payable                       8000 

Cash payment to suppliers                                                ID  298000 

                               ---------------------------------------------- 

Note (2) :               Operating expenses                         ID      36000 

   Less depreciation expense                                                   (12000)* 

Cash payment for operating expense                           ID      24000 

                             ---------------------------------------------------- 

*  24000 – 16000 = 8000 balance in accumulated depreciation after sale 

Ending balance: 20000 – 8000 = ID 12000 depreciation expense 


